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global warming?

Weighted 'N'

Unweighted 'N'

Definitely the result of
climate change/global
warming

Likely the result of
climate change/global
warming

Possibly the result of
climate change/global

warming

No changes noticed

Depends/hard to say

DK/NA

560
28%

361
18%

446
22%

570
28%

35
2%

31

Focus Canada 2015 — Climate Change Survey

Have you noticed any changes in your part of the country which you think are definitely, likely, or possibly the result of climate change or
GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE  FEMALE  18-24  25-34  35-54 55+ ATL oc ON MB/SK AB BC TOR MTL VAN 1M+  100K-1M 5K-100K  <5K
(B) (C) (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (8) (T)
971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220
977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254
247 313 66 90 204 191 42 115 210 32 43 118 118 50 40 89 147 167 64
25% 30% 29% 28% 28% 27% 30% 24% 27% 23% 21% 44% 35% 23% 46% 35% 26% 25% 29%
B HIJKL o ¢] RS
150 211 50 49 130 127 30 92 149 21 26 43 54 40 19 33 118 117 35
15% 20% 22% 15% 18% 18% 21% 19% 19% 15% 13% 16% 16% 19% 21% 13% 21% 18% 16%
B Q
226 220 19 88 169 165 32 92 181 34 49 58 69 36 16 52 116 157 60
23% 21% 8% 27% 23% 24% 22% 19% 23% 24% 24% 22% 20% 17% 18% 20% 20% 24% 27%
D D D
314 256 87 88 207 185 36 164 204 50 72 43 85 82 12 70 173 202 49
32% 25% 38% 27% 28% 27% 25% 34% 26% 36% 35% 16% 25% 39% 13% 28% 30% 31% 22%
¢ M HJM M M JM P NP T T
18 18 2 2 11 20 2 11 14 2 3 3 4 3 0 5 9 9 6
2% 2% 1% 1% 1% 3% 1% 2% 2% 1% 2% 1% 1% 1% *% 2% 2% 1% 3%
E
17 15 5 5 12 8 1 2 13 1 11 3 7 2 1 4 5 8 7
2% 1% 2% 2% 2% 1% 1% 1% 2% *% 5% 1% 2% 1% 2% 2% 1% 1% 3%

2%

HIJKM



Focus Canada 2015 — Climate Change Survey

Have you noticed any changes in your part of the country which you think are definitely, likely, or possibly the result of climate change or
global warming?
EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(A) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) (L) (M) (N) (0) (P) (Q) (R)
Weighted 'N' 2004 190 400 572 821 292 255 359 188 542 350 422 401 32 141 629 1594 410
Unweighted 'N' 2004 221 418 542 800 313 282 347 181 477 338 454 373 32 132 645 1606 398
Definitely the result of 560 41 88 167 256 93 81 95 58 139 108 75 124 12 55 173 465 95
climate change/global 28% 22% 22% 29% 31% 32% 32% 26% 31% 26% 31% 18% 31% 38% 39% 28% 29% 23%
warming bC BC L L L LP L R
Likely the result of 361 32 78 88 156 42 46 63 39 102 67 52 93 7 25 112 284 78
climate change/global 18% 17% 20% 15% 19% 14% 18% 17% 21% 19% 19% 12% 23% 22% 18% 18% 18% 19%
warming L Lp L
Possibly the result of 446 41 88 144 170 62 56 83 43 131 71 93 90 6 27 153 364 82
climate change/global 22% 22% 22% 25% 21% 21% 22% 23% 23% 24% 20% 22% 23% 18% 19% 24% 23% 20%
warming
No changes noticed 570 65 133 157 212 83 64 108 46 150 93 187 86 6 29 164 427 144
28% 34% 33% 27% 26% 29% 25% 30% 24% 28% 26% 44% 22% 19% 21% 26% 27% 35%
E E KMNOP Q
Depends/hard to say 35 6 5 9 14 7 6 8 2 7 8 6 3 1 1 16 25 10
2% 3% 1% 2% 2% 2% 2% 2% 1% 1% 2% 1% 1% 3% 1% 3% 2% 3%
m
DK/NA 31 5 7 7 12 5 1 2 1 12 4 10 4 - 3 10 30 2
2% 3% 2% 1% 1% 2% 1% 1% 1% 2% 1% 2% 1% 2% 2% 2% *%
ghi R



Focus Canada 2015 — Climate Change Survey

Which one of the following best fits your own view about the latest scientific evidence about global warming:

Weighted 'N'

Unweighted 'N'

The science is
conclusive that global
warming is happening and
caused mostly by human
activity

The science is
conclusive that global
warming is happening,
but not yet conclusive
that it is caused by
human activity

The science is not yet
conclusive that global
warming is happening.

Other

DK/NA

1217
61%

474
24%

262
13%

20

30

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE FEMALE 18-24 25-34 35-54 55+ ATL Qc ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(B) (C) (D) (E) (F) (G) (H) (I) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (s) (T)
971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220
977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254
584 634 180 225 425 3717 81 308 469 83 101 175 216 150 64 159 337 391 115
60% 61% 78% 70% 58% 54% 57% 64% 61% 59% 50% 65% 64% 70% 73% 63% 59% 59% 52%
FG FG L L L T
220 254 34 65 187 181 43 105 178 34 66 49 65 38 13 54 142 158 69
23% 25% 15% 20% 26% 26% 30% 22% 23% 25% 32% 18% 19% 18% 14% 21% 25% 24% 31%
D D M IJM Q
145 117 16 23 106 116 15 50 110 20 31 36 49 20 9 31 77 95 28
15% 11% 7% 7% 14% 17% 11% 11% 14% 14% 15% 14% 15% 9% 10% 12% 14% 14% 13%
DE DE

13 8 - 4 5 10 1 6 9 1 1 2 6 2 - 5 4 3 5
1% 1% 1% 1% 1% 1% 1% 1% 1% 1% 1% 2% 1% 2% 1% *% 2%
9 21 - 6 9 13 4 9 6 2 5 6 2 2 2 4 8 12 3
1% 2% 2% 1% 2% 3% 2% 1% 1% 2% 2% *% 1% 3% 2% 1% 2% 1%

2%



2.

Weighted 'N'

Unweighted 'N'

The science is
conclusive that global
warming is happening and
caused mostly by human
activity

The science is
conclusive that global
warming is happening,
but not yet conclusive
that it is caused by
human activity

The science is not yet
conclusive that global
warming is happening.

Other

DK/NA

TOTAL

2004

2004

1217
61%

474
24%

262
13%

30
2%

EDUCATION

HOUSEHOLD INCOME

Focus Canada 2015 — Climate Change Survey

Which one of the following best fits your own view about the latest scientific evidence about global warming:

FEDERAL PARTY SUPPORT

SURVEY LANGUAGE

LESS HS

110
58%

47
25%

25
13%

220
55%

104
26%

60
15%

ECINN

12
3%

HS GRAD COLLEGE

350
61%

134
23%

75
13%

UNIV.

528
64%

181
22%

100
12%

<$30K

178
61%

75
26%

32
11%

141
55%

64
25%

39
15%

(SRR

o

225
63%

86
24%

43
12%

$30-$50K $50-$80K $80-100K

116
62%

39
21%

31
16%

S100K+

337
62%

133
25%

69
13%

LIB

223
64%

81
23%

37
11%

N
8 o0 O

a

181
43%

134
32%
KMOP

96
23%
KMNOP

287
72%
kLP

82
21%

28
7%

22
69%

26%

GREEN

102
72%

22
15%

15
11%

UNDECIDE ENGLISH

629

645

381
61%

145
23%

81
13%

12
2%

1594

1606

953
60%

385
24%

218
14%

FRENCH

264
64%

89
22%

44
11%

a0 U1

o0



Focus Canada 2015 — Climate Change Survey

Please tell me if you are extremely/not at all concerned about changes in our climate due to global warming?

Weighted 'N'

Unweighted 'N'

Extremely concerned

Definitely concerned

Somewhat concerned

Not very concerned

Not at all concerned

DK/NA

TOP 2 BOX

BOTTOM 2 BOX

391
20%

611
30%

626
31%

234
12%

137
7%

a0 U1

1002
50%

371
19%

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE FEMALE 18-24 25-34 35-54 55+ ATL Qc ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(B) () (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (s) (T)
971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220
977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254
172 219 41 64 151 131 27 103 144 14 36 67 65 50 23 60 110 114 40
18% 21% 18% 20% 21% 19% 19% 22% 19% 10% 17% 25% 19% 23% 26% 24% 19% 17% 18%
K K K
278 333 69 91 235 210 47 106 268 49 46 95 131 43 40 68 171 198 70
29% 32% 30% 28% 32% 30% 33% 22% 35% 35% 23% 35% 39% 20% 46% 27% 30% 30% 32%
I IL IL IL ] ]
296 329 74 108 228 209 48 170 232 40 66 71 96 71 19 72 184 214 71
31% 32% 32% 33% 31% 30% 34% 36% 30% 28% 32% 26% 28% 33% 22% 28% 32% 32% 32%
M
122 112 39 35 71 86 15 75 73 21 33 16 24 39 2 33 67 84 19
13% 11% 17% 11% 10% 12% 11% 16% 9% 15% 16% 6% 7% 18% 2% 13% 12% 13% 9%
JdM M M NP
100 38 7 22 46 58 6 24 52 16 24 16 20 10 4 21 35 46 21
10% 4% 3% 7% 6% 8% 4% 5% 7% 11% 12% 6% 6% 5% 4% 8% 6% 7% 9%
C D HI
4 1 - 2 1 2 - - 2 - 0 3 1 - - 0 2 3 -
*% *% 1% *% *% *% *% 1% *% *% *% *%
449 552 110 155 387 341 73 209 412 63 82 162 196 93 63 128 281 312 110
46% 53% 48% 48% 53% 49% 51% 44% 53% 45% 40% 61% 58% 44% 12% 50% 49% 47% 50%
B L IL IKL 0] NO
222 150 46 58 117 145 21 99 125 37 57 32 44 49 6 54 102 130 40
23% 14% 20% 18% 16% 21% 15% 21% 16% 26% 28% 12% 13% 23% 7% 21% 18% 20% 18%
C F M HIM HIM NP



3. Please tell me

Weighted 'N'

Unweighted 'N'

Extremely concerned

Definitely concerned

Somewhat concerned

Not very concerned

Not at all concerned

DK/NA

TOP 2 BOX

BOTTOM 2 BOX

if you are extremely/not at all concerned about changes in our climate due to

TOTAL

2004

2004

391
20%

611
30%

626
31%

234
12%

137
7%

&l

*
a°

1002
50%

371
19%

EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(B) ()] (D) (E) (F) (G) (H) (1) (J) (X) (L) (M) (N) (0) (P) (Q) (R)
190 400 572 821 292 255 359 188 542 350 422 401 32 141 629 1594 410
221 418 542 800 313 282 347 181 477 338 454 373 32 132 645 1606 398
26 45 123 192 61 54 72 40 94 60 31 123 10 40 122 300 91
13% 11% 21% 23% 21% 21% 20% 21% 17% 17% 7% 31% 32% 28% 19% 19% 22%
BC BC L KLP kL KLp L
45 114 160 285 74 80 119 56 177 127 103 131 6 42 187 530 80
24% 28% 28% 35% 25% 32% 33% 30% 33% 36% 24% 33% 20% 30% 30% 33% 20%
BcD £ £ LNp L R
71 137 193 222 93 73 102 56 189 111 158 106 7 45 195 471 155
37% 34% 34% 27% 32% 29% 28% 30% 35% 32% 37% 26% 22% 32% 31% 30% 38%
E E E h Mnp Q
26 71 63 73 41 29 51 21 51 33 85 25 5 6 75 172 62
14% 18% 11% 9% 14% 11% 14% 11% 9% 9% 20% 6% 17% 4% 12% 11% 15%
DE j 3j o KMOP o MO q
22 31 33 47 23 18 15 15 32 20 45 16 3 7 47 116 22
12% 8% 6% 6% 8% 7% 4% 8% 6% 6% 11% 4% 9% 5% 7% 7% 5%
dE KMO m
- 2 1 2 0 - 1 - - - - - - 2 3 5 -
1% *% *% *% *% 1% *% *%
71 159 283 477 135 134 191 96 271 187 135 254 17 82 308 830 171
37% 40% 49% 58% 46% 53% 53% 51% 50% 53% 32% 63% 52% 58% 49% 52% 42%
BC BCD L KLP L L L R
48 102 96 119 63 48 66 36 83 52 129 41 8 13 122 288 83
25% 26% 17% 15% 22% 19% 18% 19% 15% 15% 31% 10% 26% 9% 19% 18% 20%
DE DE 3 KMOP mo MO
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global warming?




Which one of the
few years?

Weighted 'N'

Unweighted 'N'

Consumers adjusting
their lifestyles to
reduce impact

Industry and business
making investments,
changing operations to
reduce impact

Governments to push
consumers and industry
to make the necessary

changes

All three equally
essential

Other combination

None of the above/Other

DK/NA

following do you think is the most essential to making serious progress on

TOTAL

2004

2004

262
13%

353
18%

960
48%

276
14%

61
3%

71
4%

21
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the climate change problem in Canada over the next

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE  FEMALE 18-24 25-34 35-54 55+ ATL oc ON MB/SK AB TOR MTL VAN 1M+ 100K-1M 5K-100K  <5K

(B) () (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) Q) (R) () (T)

971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220

977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254

133 129 48 50 86 74 17 50 88 16 48 42 46 25 8 41 67 90 27

14% 12% 21% 15% 12% 11% 12% 10% 11% 12% 24% 16% 14% 12% 9% 16% 12% 14% 12%

G HIJK
183 169 50 49 126 122 28 68 134 34 37 52 49 32 21 33 107 125 33
19% 16% 22% 15% 17% 18% 20% 14% 17% 24% 18% 19% 15% 15% 23% 13% 19% 19% 15%
I
450 510 106 141 372 337 76 251 385 58 81 110 179 113 39 129 276 303 94
46% 49% 46% 44% 51% 48% 53% 53% 50% 42% 39% 41% 53% 53% 44% 51% 49% 46% 43%
LM LM M

116 160 20 57 93 101 15 83 99 21 17 41 30 32 15 25 89 80 45

12% 16% 9% 18% 13% 15% 11% 17% 13% 15% 8% 15% 9% 15% 18% 10% 16% 12% 20%
B D HL Q Qs

25 36 5 18 19 18 4 11 26 3 9 9 13 3 3 12 10 23 7

3% 3% 2% 6% 3% 3% 3% 2% 3% 2% 4% 3% 4% 2% 3% 5% 2% 3% 3%

50 21 - 2 31 34 3 12 29 6 11 10 19 5 2 13 16 23 12

5% 2% 1% 4% 5% 2% 3% 4% 4% 5% 4% 6% 3% 2% 5% 3% 3% 5%

¢ E E
14 7 - 5 6 9 0 3 10 1 2 4 2 2 1 1 3 15 2
1% 1% 2% 1% 1% *% 1% 1% 1% 1% 2% 1% 1% 1% *% *% 2% 1%

1%

OR
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Which one of the following do you think is the most essential to making serious progress on the climate change problem in Canada over the next
few years?

EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-S50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(A) (B) () (D) (E) (F) (G) (H) (1) (J) (X) (L) (M) (N) (0) (P) (Q) (R)
Weighted 'N' 2004 190 400 572 821 292 255 359 188 542 350 422 401 32 141 629 1594 410
Unweighted 'N' 2004 221 418 542 800 313 282 347 181 477 338 454 373 32 132 645 1606 398
Consumers adjusting 262 26 54 85 90 33 30 44 24 86 48 81 45 2 19 65 222 40
their lifestyles to 13% 14% 14% 15% 11% 11% 12% 12% 13% 16% 14% 19% 11% 7% 14% 10% 14% 10%
reduce impact e kMNP R
Industry and business 353 34 84 91 140 52 44 56 36 94 61 108 57 4 15 103 301 52
making investments, 18% 18% 21% 16% 17% 18% 17% 16% 19% 17% 17% 26% 14% 11% 11% 16% 19% 13%
changing operations to d KMNOP R
reduce impact
Governments to push 960 93 194 281 386 143 127 181 97 257 170 155 229 21 77 297 736 225
consumers and industry 48% 49% 49% 49% 47% 49% 50% 50% 52% 47% 48% 37% 57% 64% 55% 47% 46% 55%
to make the necessary L KLP kLp L L Q
changes
All three equally 276 19 37 72 145 42 35 59 23 66 52 28 54 6 25 104 205 71
essential 14% 10% 9% 13% 18% 14% 14% 16% 12% 12% 15% 7% 13% 18% 18% 17% 13% 17%
BCD L L L L q
Other combination 61 7 8 20 25 8 7 6 5 22 12 12 9 - 1 24 52 10
3% 4% 2% 3% 3% 3% 3% 2% 2% 4% 3% 3% 2% *% 4% 3% 2%
H o o ]
None of the above/Other 71 8 10 21 30 9 9 7 4 16 6 32 5 - 1 25 61 9
4% 4% 3% 4% 4% 3% 4% 2% 2% 3% 2% 8% 1% 1% 4% 4% 2%
KMOp kMo
DK/NA 21 4 11 2 4 4 2 7 - 2 2 5 3 - 2 9 18 3
1% 2% 3% *% *% 1% 1% 2% *% *% 1% 1% 1% 2% 1% 1%
DE j



Do you think Canada should sign onto a new int'l agreement to reduce worldwide greenhouse gas emissions that cause climate change,

result in some Canadian individuals losing jobs, and Canadians paying a bit more for some goods/services?

Weighted 'N'

Unweighted 'N'

Depends

DK/NA

1228
61%

590
29%

106
5%

80
4%

Focus Canada 2015 — Climate Change Survey

even if this may

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE FEMALE 18-24 25-34 35-54 55+ ATL Qc ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(B) () (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (s) (T)
971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220
977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254
585 643 152 189 435 444 87 337 447 86 101 170 212 159 58 163 346 397 136
60% 62% 66% 58% 59% 64% 61% 70% 58% 62% 49% 64% 63% 75% 65% 64% 61% 60% 62%
L HJIL L L N
319 271 59 96 234 192 45 104 245 40 84 71 95 36 23 64 174 211 62
33% 26% 26% 30% 32% 28% 32% 22% 32% 29% 41% 26% 28% 17% 26% 25% 31% 32% 28%
C I I IJKM 0]
32 74 7 26 37 34 5 26 43 9 13 10 17 12 4 16 33 22 13
3% 7% 3% 8% 5% 5% 4% 5% 6% 6% 6% 4% 5% 6% 4% 6% 6% 3% 6%
B
35 45 12 11 26 28 5 11 37 4 6 17 13 5 4 11 16 29 8
4% 4% 5% 4% 4% 4% 4% 2% 5% 3% 3% 6% 4% 3% 5% 4% 3% 4% 4%

10



Do you think Canada should sign onto a new int'l agreement to reduce worldwide greenhouse gas emissions that cause CC,
losing jobs/CDN's paying a bit more for some goods/services?

in some CDN ind.

Weighted 'N'

Unweighted 'N'

Depends

DK/NA

TOTAL

2004

2004

1228
61%

590
29%

106
5%

80

EDUCATION

Focus Canada 2015 — Climate Change Survey

HOUSEHOLD INCOME

FEDERAL PARTY SUPPORT

even if this may result

SURVEY LANGUAGE

LESS HS

113
59%

64
34%

HS GRAD COLLEGE

214
54%

139
35%

26
6%

21

332
58%

183
32%

37
6%

20

UNIV.

559
68%
BCD

196
24%

35
4%

31

<$30K

176
60%

85
29%

19
7%

11

$30-$50K $50-$80K $80-100K

149
58%

84
33%

12
5%

252
70%

FGij

11

74
21%

21
6%

12
3%

115
61%

63
33%

S100K+

339
62%

165
30%

23
4%

15
3%

LIB

251
72%
LP

70
20%

17
5%

12
3%

178
42%

203
48%
KMNOP

25
6%

16

300
75%
LP

76
19%

16
4%

23
71%

20%

GREEN

99
70%
LP

37
26%

356
57%

191
30%
KM

43
7%
mO

39
6%
kMO

UNDECIDE ENGLISH

1594

1606

938
59%

500

31%

5%

72

FRENCH

290
71%

89
22%

23
6%



Would you be personally upset would you be if Canada does not sign onto a new international

SUBSAMPLE: THOSE WHO SUPPORT INTERNATIONAL AGREEMENT

Weighted 'N'

Unweighted 'N'

Yes, would be upset

No, would not be upset

Depends

DK/NA

813
66%

371
30%

19

2%

26
2%

Focus Canada 2015 — Climate Change Survey

agreement to reduce climate change?

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
MALE FEMALE 18-24 25-34 35-54 55+ ATL MB/SK TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(B) (C) (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (S) (T)
585 643 152 189 435 444 87 337 447 86 101 170 212 159 58 163 346 397 136
605 626 56 88 350 728 122 311 416 92 98 192 187 147 68 153 362 437 159
386 427 78 111 302 314 59 243 288 48 52 123 135 109 42 103 234 274 95
66% 66% 52% 59% 69% 71% 68% 72% 64% 56% 52% 72% 64% 68% 73% 63% 68% 69% 69%
D DE L KL KL
183 188 69 74 118 108 25 77 145 34 45 46 70 40 15 44 103 116 34
31% 29% 45% 39% 27% 24% 29% 23% 32% 39% 44% 27% 33% 25% 26% 27% 30% 29% 25%
FG FG I I HIM
12 7 1 - 8 10 2 9 4 1 1 2 3 4 1 4 6 2 5
2% 1% 1% 2% 2% 3% 3% 1% 1% 1% 1% 1% 3% 1% 3% 2% 1% 4%
4 22 3 4 7 12 0 8 10 4 3 - 5 6 - 12 4 5 3
1% 3% 2% 2% 2% 3% *% 2% 2% 4% 3% 2% 4% 7% 1% 1% 2%
B RST
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Focus Canada 2015 — Climate Change Survey

Would you be personally upset would you be if Canada does not sign onto a new international agreement to reduce climate change?

SUBSAMPLE: THOSE WHO SUPPORT INTERNATIONAL AGREEMENT

Weighted 'N'

Unweighted 'N'

Yes, would be upset

No, would not be upset

Depends

DK/NA

TOTAL

1228

1231

813
66%

371
30%

19
2%

26
2%

EDUCATION

HOUSEHOLD INCOME

FEDERAL PARTY SUPPORT

SURVEY LANGUAGE

LESS HS

62
55%

44
39%

132
62%

75
35%

HS GRAD COLLEGE

219
66%

101
30%

UNIV.

391
70%
Bc

150
27%

11
2%

<$30K

106
60%

57
32%

glJd

$30-$50K $50-$80K $80-100K

99
66%

48
32%

13

185
73%

58
23%

73
63%

41
36%

S100K+

227
67%

104
31%

168
67%

73
29%

84
47%

87
49%
KMNOP

221
74%
LP

69
23%

18
T17%

23%

GREEN

71
71%

25
26%

233
65%

109
31%

UNDECIDE ENGLISH

598
64%

313
33%

10
1%

18
2%

FRENCH

215
74%

58
20%
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Would you be personally upset if Canada does sign onto a new international agreement to reduce climate change?

SUBSAMPLE: THOSE WHO OPPOSE INTERNATIONAL AGREEMENT

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
TOTAL MALE FEMALE 18-24 25-34 35-54 55+ ATL QcC ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(R) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) (L) (M) (N) (0) (P) Q) (R) (s) (T)
Weighted 'N' 590 319 271 59 96 234 192 45 104 245 40 84 71 95 36 23 64 174 211 62
Unweighted 'N' 594 315 279 24 46 187 329 62 103 220 40 88 81 83 36 23 62 172 229 69
Yes, would be upset 247 145 101 16 38 109 82 18 34 108 12 43 31 37 7 10 27 65 96 26
42% 45% 37% 28% 39% 47% 43% 41% 33% 44% 29% 52% 44% 39% 18% 46% 42% 38% 46% 42%
I 0]
No, would not be upset 290 153 137 34 46 111 92 25 63 113 24 32 32 47 28 12 33 89 100 31
49% 48% 51% 58% 48% 48% 48% 56% 61% 46% 61% 38% 46% 50% 17% 52% 51% 51% 48% 50%
JL L N
Depends 39 17 23 7 10 12 9 1 4 19 1 7 6 8 1 0 3 16 9 1
7% 5% 8% 11% 11% 5% 5% 3% 4% 8% 3% 8% 9% 9% 3% 2% 5% 9% 4% 2%
T
DK/NA 14 5 9 2 2 1 9 0 2 6 3 2 1 2 1 - 1 3 5 4
2% 1% 3% 3% 2% 1% 5% 1% 2% 2% 7% 3% 1% 3% 2% 2% 2% 2% 6%
F
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Focus Canada 2015 — Climate Change Survey

Would you be personally upset if Canada does sign onto a new international agreement to reduce climate change?

SUBSAMPLE: THOSE WHO OPPOSE INTERNATIONAL AGREEMENT

EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(A) (B) () (D) (E) (F) (G) (H) (1) (J) (X) (L) (M) (N) (0) (P) (Q) (R)
Weighted 'N' 590 64 139 183 196 85 84 74 63 165 70 203 76 6 37 191 500 89
Unweighted 'N' 594 71 134 179 202 90 80 82 61 149 64 221 70 7 31 193 503 91
Yes, would be upset 247 23 52 85 86 40 32 28 23 73 18 105 31 2 14 74 218 29
42% 35% 37% 47% 44% 47% 38% 38% 36% 45% 26% 52% 41% 29% 37% 39% 43% 32%

KP k r
No, would not be upset 290 37 70 84 91 44 42 39 38 76 47 84 43 5 14 94 235 55
49% 58% 51% 46% 46% 52% 49% 53% 60% 46% 68% 41% 57% 71% 39% 49% 47% 61%
LOP 1 1 Q
Depends 39 3 10 11 15 1 9 6 1 14 4 10 0 - 7 17 35 4
7% 5% 7% 6% 8% 1% 11% 9% 2% 8% 6% 5% 1% 19% 9% 7% 5%

Fi F Fi m kLM M

DK/NA 14 1 6 3 4 1 1 0 1 2 - 4 1 - 2 5 13 1
2% 1% 5% 2% 2% 1% 2% 1% 2% 1% 2% 2% 5% 3% 3% 2%
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Focus Canada 2015 — Climate Change Survey

As you may know, British Columbia now has a tax on all carbon based fuels used by consumers and businesses in the province, as a way to encourage
reductions in greenhouse gas emissions generated in the province. This tax is now 7.2 cents per litre. This tax is revenue neutral” which means the same
amount raised through this tax each year is refunded - by law - to taxpayers in the form of lower personal income and corporate taxes. Would you strongly
support, somewhat support, somewhat oppose or strongly oppose this type of carbon tax British Columbia?

SUBSAMPLE: BRITISH COLUMBIA ONLY

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
TOTAL MALE FEMALE 18-24 25-34 35-54 55+ ATL Qc ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(A) (B) (C) (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (8) (T)
Weighted 'N' 267 143 124 35 33 95 100 - - - - - 267 - - 88 - 61 118 46
Unweighted 'N' 300 169 131 10 16 74 195 - - - - - 300 - - 100 - 76 135 59
Strongly support 66 29 37 10 11 22 24 - - - - - 66 - - 24 - 11 31 12
25% 20% 30% 29% 31% 23% 24% 25% 27% 18% 26% 26%
Somewhat support 96 52 43 18 6 36 34 - - - - - 96 - - 33 - 22 45 12
36% 36% 35% 51% 19% 38% 34% 36% 38% 36% 38% 27%
Depends 4 2 2 - - 1 2 - - - - - 4 - - 1 - 2 1 0
1% 1% 2% 1% 2% 1% 1% 4% 1% 1%
Somewhat oppose 39 27 12 4 2 16 16 - - - - - 39 - - 11 - 9 19 8
15% 19% 10% 11% 6% 17% 16% 15% 13% 14% 16% 17%
Strongly oppose 47 25 21 - 8 17 21 - - - - - 47 - - 18 - 15 14 11
17% 18% 17% 25% 17% 21% 17% 20% 25% 12% 23%
DK/NA 17 8 8 3 2 4 - - - - - - - 1 - 2 8 3
6% 6% 7% 9% 19% 3% 4% 6% 1% 4% 7% 6%
TOP 2 BOX 162 81 81 28 17 58 57 - - - - - 162 - - 57 - 33 77 24
60% 57% 65% 80% 50% 61% 57% 60% 65% 54% 65% 53%
BOTTOM 2 BOX 86 52 33 4 10 33 36 - - - - - 86 - - 29 - 24 33 8
32% 36% 27% 11% 31% 35% 37% 32% 33% 39% 28% 40%
D D
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Focus Canada 2015 — Climate Change Survey

As you may know, British Columbia now has a tax on all carbon based fuels used by consumers and businesses in the province, as a way to encourage
reductions in greenhouse gas emissions generated in the province. This tax is now 7.2 cents per litre. This tax is revenue neutral” which means the same
amount raised through this tax each year is refunded - by law - to taxpayers in the form of lower personal income and corporate taxes. Would you strongly
support, somewhat support, somewhat oppose or strongly oppose this type of carbon tax British Columbia?

SUBSAMPLE: BRITISH COLUMBIA ONLY

EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $S100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(A) (B) () (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R)
Weighted 'N' 267 13 66 70 113 23 40 49 28 73 49 51 55 - 27 85 266 1
Unweighted 'N' 300 20 65 80 128 29 48 51 28 81 41 70 60 - 32 95 298 2
Strongly support 66 2 11 17 36 10 12 7 8 18 16 6 17 - 10 16 66 -

25% 13% 16% 24% 32% 42% 30% 14% 28% 24% 33% 13% 31% 39% 19% 25%

bC H h 1 L Lp
Somewhat support 96 3 26 27 39 6 14 20 10 26 28 19 15 - 5 28 95 1
36% 26% 39% 38% 35% 27% 34% 42% 36% 36% 57% 38% 28% 19% 34% 36% 59%
MOP e}

Depends 4 0 1 1 1 1 1 0 0 0 0 - 1 - 1 1 4 -

1% 3% 1% 2% 1% 3% 3% 1% 2% 1% 1% 2% 5% 1% 1%
Somewhat oppose 39 2 11 9 16 3 4 12 5 10 3 11 9 - 4 11 39 0
15% 13% 16% 14% 14% 13% 10% 25% 18% 13% 6% 21% 16% 16% 13% 14% 41%

K

Strongly oppose 47 5 10 15 15 2 9 8 2 16 2 12 10 - 4 1 4 -

17% 39% 15% 21% 13% 11% 22% 16% 9% 22% 3% 23% 19% 13% 23% 17%

cE K K K

DK/NA 17 1 8 1 6 1 0 2 2 3 - 3 3 - 2 9 17 -

6% 5% 12% 1% 5% 5% 1% 3% 7% 4% 6% 5% 8% 11% 6%

D
TOP 2 BOX 162 5 36 43 75 16 26 27 18 44 44 26 32 - 15 44 161l 1
60% 39% 55% 62% 66% 69% 64% 55% 65% 61% 90% 50% 59% 58% 52% 60% 59%
B LMOP
BOTTOM 2 BOX 86 7 21 24 31 5 13 20 7 25 5 23 19 - 8 30 85 0
32% 52% 32% 35% 28% 23% 31% 40% 26% 35% 10% 44% 34% 29% 36% 32% 41%
e K K k K
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Focus Canada 2015 — Climate Change Survey

British Columbia now has a tax on all carbon based fuels used by consumers and businesses in the province, as a way to encourage reductions in greenhouse
gas emissions generated in the province. This tax is now 7.2 cents per litre. This tax is revenue neutral” which means the same amount raised through this
tax each year is refunded - by law - to taxpayers in the form of lower personal income and corporate taxes.

Would you strongly support, somewhat support, somewhat oppose or strongly oppose this type of carbon tax FOR YOUR PROVINCE?

SUBSAMPLE: ALL PROVINCES EXCEPT BRITISH COLUMBIA

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
TOTAL MALE FEMALE 18-24 25-34 35-54 55+ ATL QC ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(A) (B) (C) (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (8) (T)
Weighted 'N' 1737 828 908 194 289 638 597 143 478 772 139 205 - 338 213 - 254 508 541 174
Unweighted 'N' 1704 808 896 77 134 513 963 200 451 701 146 206 - 300 200 - 243 510 584 195
Strongly support 323 167 155 43 45 121 112 39 72 157 25 29 - 74 39 - 63 99 92 25
19% 20% 17% 22% 16% 19% 19% 28% 15% 20% 18% 14% 22% 18% 25% 20% 17% 15%
IL I ST
Somewhat support 685 283 402 80 140 241 221 57 218 292 50 68 - 141 92 - 87 182 214 76
39% 34% 44% 41% 48% 38% 37% 40% 46% 38% 36% 33% 42% 43% 34% 36% 40% 43%
B FG JL
Depends 39 9 30 3 9 15 12 2 18 7 5 7 - 5 8 - 12 9 10 7
2% 1% 3% 2% 3% 2% 2% 2% 4% 1% 3% 4% 2% 4% 5% 2% 2% 4%
B J
Somewhat oppose 289 128 16l 49 44 103 91 20 91 119 22 38 - 47 40 - 33 97 76 33
17% 15% 18% 25% 15% 16% 15% 14% 19% 15% 16% 19% 14% 19% 13% 19% 14% 19%
S
Strongly oppose 333 208 125 14 40 143 132 21 60 162 32 58 - 52 27 - 45 104 121 27
19% 25% 14% 7% 14% 22% 22% 15% 13% 21% 23% 28% 15% 13% 18% 21% 22% 15%
Cc DE DE I I HI
DK/NA 67 33 34 5 11 16 30 4 20 34 6 4 - 18 7 - 15 15 28 6
4% 4% 4% 3% 4% 2% 5% 3% 4% 4% 4% 2% 5% 3% 6% 3% 5% 4%
F
TOP 2 BOX 1008 450 558 123 185 362 332 96 290 450 75 98 - 215 130 - 150 282 306 101
58% 54% 61% 63% 64% 57% 56% 67% 61% 58% 54% 48% 64% 61% 59% 55% 57% 58%
B JKL L L
BOTTOM 2 BOX 623 336 286 63 83 246 223 41 151 281 54 96 - 99 67 - 78 202 197 60
36% 41% 32% 32% 29% 38% 37% 29% 32% 36% 39% 47% 29% 32% 31% 40% 36% 35%
c E HIJ o)
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Focus Canada 2015 — Climate Change Survey

British Columbia now has a tax on all carbon based fuels used by consumers and businesses in the province, as a way to encourage reductions in greenhouse
gas emissions generated in the province. This tax is now 7.2 cents per litre. This tax is revenue neutral” which means the same amount raised through this
tax each year is refunded - by law - to taxpayers in the form of lower personal income and corporate taxes.

Would you strongly support, somewhat support, somewhat oppose or strongly oppose this type of carbon tax FOR YOUR PROVINCE?

SUBSAMPLE: ALL PROVINCES EXCEPT BRITISH COLUMBIA

EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(A) (B) () (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) (Q) (R)
Weighted 'N' 1737 178 334 502 707 269 215 310 160 469 302 371 346 32 115 544 1328 409
Unweighted 'N' 1704 201 353 462 672 284 234 296 153 396 297 384 313 32 100 550 1308 396
Strongly support 323 34 43 68 175 58 39 69 28 90 60 36 94 8 31 85 269 54
19% 19% 13% 14% 25% 22% 18% 22% 18% 19% 20% 10% 27% 24% 27% 16% 20% 13%
c CcD L kLP 1 LP L R

Somewhat support 685 60 122 213 284 97 87 135 63 187 148 119 158 14 45 194 493 192
39% 34% 37% 42% 40% 36% 40% 44% 39% 40% 49% 32% 46% 42% 39% 36% 37% 47%
b LP LP o)
Depends 39 4 8 9 18 11 3 5 4 10 6 3 2 - 2 21 24 15
2% 2% 2% 2% 3% 4% 2% 2% 2% 2% 2% 1% 1% 2% 4% 2% 4%
LM a
Somewhat oppose 289 33 70 93 92 44 37 47 25 77 44 92 40 4 14 94 209 80
17% 18% 21% 19% 13% 16% 17% 15% 16% 17% 15% 25% 12% 12% 13% 17% 16% 20%

E E KMnOP m
Strongly oppose 333 38 72 99 122 38 40 46 40 98 36 115 43 5 15 116 281 53
19% 21% 21% 20% 17% 14% 19% 15% 25% 21% 12% 31% 12% 15% 13% 21% 21% 13%

FH fh KMNOP KMo R

DK/NA 67 9 19 20 16 21 10 9 1 7 7 6 10 2 7 34 52 15
4% 5% 6% 4% 2% 8% 4% 3% 1% 1% 2% 2% 3% 6% 6% 6% 4% 4%

E HIJ I i KLM
TOP 2 BOX 1008 95 165 281 459 155 126 204 91 277 208 155 251 21 77 280 762 246
58% 53% 49% 56% 65% 58% 58% 66% 57% 59% 69% 42% 73% 67% 67% 51% 57% 60%

BCD LP LP L Lp L
BOTTOM 2 BOX 623 70 142 192 214 81 76 93 64 176 80 207 83 9 29 209 490 133
36% 39% 43% 38% 30% 30% 36% 30% 40% 37% 26% 56% 24% 28% 25% 38% 37% 32%

E E E fh h KMNOP KMO
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Focus Canada 2015 — Climate Change Survey

Do you believe it is possible or is not possible for your province to shift most of its energy requirements from fossil fuels to renewable
energy?

GENDER AGE REGION URBAN CENTRE COMMUNITY SIZE
TOTAL MALE FEMALE 18-24 25-34 35-54 55+ ATL QcC ON MB/SK AB BC TOR MTL VAN 1M+ 100K-1M 5K-100K <5K
(n) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (S) (T)
Weighted 'N' 2004 971 1033 229 323 733 697 143 478 772 139 205 267 338 213 88 254 569 659 220
Unweighted 'N' 2004 977 1027 87 150 587 1158 200 451 701 146 206 300 300 200 100 243 586 719 254
Yes, it is possible 1478 705 772 200 263 543 456 109 389 529 108 125 218 230 171 71 173 420 469 169
74% 73% 75% 87% 82% 74% 65% 76% 81% 69% T7% 61% 82% 68% 80% 80% 68% 74% 71% 77%
FG FG G L JL L JL N
No, it is not possible 395 221 174 19 54 145 174 33 62 180 21 65 33 76 30 10 58 112 142 40
20% 23% 17% 8% 17% 20% 25% 23% 13% 23% 15% 32% 12% 22% 14% 12% 23% 20% 22% 18%
c D DEF M M IKM OoP
Depends 55 25 30 5 - 19 30 1 16 21 5 7 6 12 7 1 13 11 22 4
3% 3% 3% 2% 3% 4% *% 3% 3% 3% 3% 2% 4% 3% 1% 5% 2% 3% 2%
H H
DK/NA 77 20 57 5 5 25 37 0 11 41 5 8 11 20 5 6 10 26 26 7
4% 2% 5% 2% 2% 3% 5% *% 2% 5% 4% 4% 4% 6% 2% 7% 4% 5% 4% 3%
B E H HI H H H
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Focus Canada 2015 — Climate Change Survey

Do you believe it is possible or is not possible for your province to shift most of its energy requirements from fossil fuels to renewable

energy?
EDUCATION HOUSEHOLD INCOME FEDERAL PARTY SUPPORT SURVEY LANGUAGE
TOTAL LESS HS HS GRAD COLLEGE UNIV. <$30K $30-$50K $50-$80K $80-100K $100K+ LIB CONS NDP BQ GREEN UNDECIDE ENGLISH FRENCH
(B) (B) (C) (D) (E) (F) (G) (H) (1) (J) (K) (L) (M) (N) (0) (P) Q) (R)
Weighted 'N' 2004 190 400 572 821 292 255 359 188 542 350 422 401 32 141 629 1594 410
Unweighted 'N' 2004 221 418 542 800 313 282 347 181 477 338 454 373 32 132 645 1606 398
Yes, it is possible 1478 136 300 441 588 222 189 287 142 378 271 237 330 29 127 459 1144 334
74% 71% 75% 77% 72% 76% 74% 80% 76% 70% 77% 56% 82% 90% 90% 73% 72% 82%
e J L LP kLP KLmP L Q
No, it is not possible 395 33 76 98 182 41 45 59 34 144 58 158 56 2 13 105 345 50
20% 17% 19% 17% 22% 14% 18% 16% 18% 27% 16% 38% 14% 7% 9% 17% 22% 12%
d FGHi o KMNOP no R
Depends 55 9 4 16 25 10 9 4 5 11 13 12 6 1 1 22 39 16
3% 5% 1% 3% 3% 4% 3% 1% 3% 2% 4% 3% 2% 3% 1% 3% 2% 4%
[} o} h

DK/NA 77 13 20 17 25 18 12 10 6 8 9 15 9 - 1 43 67 10
4% 7% 5% 3% 3% 6% 5% 3% 3% 2% 3% 4% 2% *% 7% 4% 2%

de hJ j 0 K1MO
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